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library(openxlIsx)

year
samplei<-read.xIsx("http://kanggc.iptime.org/
Consumption of Korea(2000-2016)
book/data/sample1-n.xlsx")

consumption
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year<-sample1$year
gdp<-sample1$gdp
consumption<-sample1$consumption Histogram of gdp Histogram of consumption
gdp

consumption

Frequency
Frequency

par(mfrow=c(2,1))
plot(year, gdp, type="I", main="GDP of Korea( T
2000-2016)") - -
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plot(year, consumption, type="I", Ity=2,main="
Consumption of Korea(2000-2016)")

gdp consumption

Scatter plot of GDP and Consumption

par(mfrow=c(1,2))
hist(gdp)

hist(consumption, breaks=8, col="red")

consumption

par(mfrow=c(1,1))

plot(gdp, consumption, main="Scatter plot of
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Box plot of mid

Box plot of final Box plot of total

4-3-2.R

library(openxIsx)
samplei<-read.xIsx("http://kanggc.iptime.org/book/da
ta/stat-1.xIsx")

mid<-sample1$mid

final<-sample1$final

total<-sample1$total

grade<-sample1$grade

summary(sample1)

par(mfrow=c(1,3))
boxplot(mid, main="Box plot of mid")
boxplot(final, main="Box plot of final")

boxplot(total, main="Box plot of total")

par(mfrow=c(1,1))

table(grade)

slices<-c(4,11,11,16,9,5,3,1)
lbls<-c("1sg","258",'368"."4e2""5a5",'"665
"'7eE","8s8")

pie(slices, labels=Ibls, main="Pie Chart of Total Score")

counts<-table(total, grade)
barplot(counts, main="8ar Chart of Total Score", xlab="
Grade")
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library(openxlsx)

samplei<-read.xIsx("http://kanggc.iptime.org/boek/data/stat—1.xIsx")

mid<-sample1$mid
final<—sample1$final decimal point is 1 digit(s) to the right of the

total<-sample 1$total 801
grade<-sample1$gra 0177831135788

0011233335577 8888012445666789
total 111234444570235

stem(total)

stem(total, scale=0.5)
stem(total, scale=2) decimal point is 1 digit(s) to the right of the
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ggplot(data=data1, aes(x=var1, y=var2))+geom_point()+xlim(3,6)
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geom_boxplot() : &X}12{=
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4-3-4.R

library(openxIsx)

library(ggplot2)

library(gridExtra)
samplei<-read.xIsx("http://kanggc.iptime.org/book/data/sample1-n.xlsx")
year<-sample1$year

gdp<-samplei$gdp

consumption<—-sample1$consumption

plot1<-ggplot(data=sample1, aes(x=year, y=gdp, group=1)) + geom_line() + ggtitle("GDP o
f Korea(2000-2016)")+ theme(plot.title = element_text(hjust = 0.5))
plot2<-ggplot(data=sample1, aes(x=year, y=consumption, group=1)) + geom_line() + ggtitl
e("Consumption of Korea(2000-2016)") + theme(plot.title = element_text(hjust = 0.5))

marrangeGrob(grobs=list(plot1, plot2), nrow=2, ncol=1)

plot3<—-ggplot(data=samplel, aes(x=gdp)) + geom_histogram(fill="white" ,bins=8) + ggtitle("
Histogram of GDP")+ theme(plot.title = element_text(hjust = 0.5))

plot4<-ggplot(data=samplel, aes(x=consumption)) + geom_histogram(fill="red",bins=8) +

ggatitle("Histogram of Consumption") + theme(plot.title = element_text(hjust = 0.5))

marrangeGrob(grobs=list(plot3, plot4), nrow=2, ncol=1)

plotb<—-ggplot(data=samplel, aes(x=gdp, y=consumption)) + geom_point(colour="red", siz
e=2) + ggtitle("Scatter plot of GDP and Consumption")+ theme(plot.title = element_text(hjus
t=0.5))

marrangeGrob(grobs=list(plot5), nrow=1, ncol=1)
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4-3-5.R

library(openxIsx)

library(ggplot2)

library(gridExtra)

samplei<-read.xIsx("http://kanggc.iptime.org/book/data/stat-1.xIsx")

mid<-sample1$mid

final<-sample1$final

total<-sample1$total

grade<-sample1$grade

plot1<-ggplot(data=sample1, aes(x=1, y=mid)) + geom_boxplot() + ggtitle("Boxplot of Mid")+ theme
(plot.title = element_text(hjust = 0.5))

plot2<-ggplot(data=sample1, aes(x=1, y=final)) + geom_boxplot() + ggtitle("Boxplot of Final"')+ the
me(plot.title = element_text(hjust = 0.5))

plot3<-ggplot(data=sample1, aes(x=1, y=total)) + geom_boxplot() + ggtitle("Boxplot of Total")+ the
me(plot.title = element_text(hjust = 0.5))

marrangeGrob(grobs=list(plot1, plot2, plot3), nrow=1, ncol=3)

t.grade<-data.frame(table(sample1$grade))

plot4<-ggplot(t.grade, aes(x="", y=Freq, fill=Var1)) + geom_bar(width=1, stat="identity") + coord_p
olar(theta="y") + ggtitle("Pie Chart of Total Score")+ theme(plot.title = element_text(hjust = 0.5))

marrangeGrob(grobs=list(plot4), nrow=1, ncol=1)

plotb<—-ggplot(data=samplel, aes(x=grade)) + geom_bar() + ggtitle("Bar Chart of G + theme(pl
ot.title = element_text(hjust = 0.5))

marrangeGrob(grobs=list(plot5), nrow=1, ncol=1)
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library(openxisx)
library(dplyr)
library(ggplot2)

library(gridExtra)

df<-read.xIsx("http://kanggc.iptime.org/book/data/subtotal—e.xlsx")
df

dept_name_1 <- df %>%
group_by(dept, class) %>%
summarise(mean_total = mean(total))

dept_name_1

plot1<—-ggplot(data=dept_name_1, aes(x=dept, y=mean_total, fill#class
) +

geom_col(position="dodge?") + ggtitle("Bar Chart of Total
ept & class")+ theme(plot.title = element_text(hjust = 0.5))
plot2<—-ggplot(data=dept_name_1, aes(x=class, y=mean_total, fill=de
) +

geom_col(position="dodge?2") + ggtitle("Bar Chart of Total M
ass & dept")+ theme(plot.title = element_text(hjust = 0.5))
marrangeGrob(grobs=list(plot1, plot2), nrow=2, ncol=1)
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